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Rads	to	degrees	calculator.	How	to	convert	rads	into	degrees.	How	to	go	from	rads	to	degrees.

Converting	Radians	to	Degrees	Use	the	Radiant	to	Degrees	Converter	above	to	find	the	exact	degree	value	of	any	angle	recorded	in	radians	or	radian	PI.	The	calculator	generates	step	explanations	using	-.	Radani	and	caglia	degree	from	0ï	rad	to	2ï	rad	rad	deg	0ï	rad	=	0	°	ï/360	rad	=	0.5	°	ï/180	rad	=	1	°	ï/120	rad	=	1.5	°	ï/90	rad	=	2	°	°	°	°/	72	rad	=
2.5	°	ï/60	rad	=	3	°	7	°/360	rad	=	3.5	°	ï/45	rad	=	4	°	ï/40	rad	=	4.5	°	ï/36	rad	=	5	°	11	°/360	rad	=	5.5	°/	30	rad	=	6'13	°/360	rad	=	6.5'7	°/180	rad	=	7	°/24	rad	=	7.5'2	°/45	rad	=	8'	17	°/360	rad	=	360	8.5	°/20	rad	=	9	°	19	°/360	rad	=	9.5	°	°/18	rad	=	10	°	7	ï/120	rad	=	10.5	°	11	°/180	rad	=	11	°	23	°/360	rad	=	11.5	°	ï/15	rad	=	12	°	5	°/72	Rad	=	12.5



°	13	°/180	rad	=	13	°/40	rad	=	13.5	°/90	rad	=	14	°	29	°/360	rad	=	14.5	°/12	rad	=	15	°	31	°/360	rad	=	15.5	°	4	4	°/45	rad	=	16	°	11	°/120	rad	=	16.5	°	17	°/180	rad	=	17	°/72	rad	=	17.5	°/10	rad	=	18	°	37	°/360	rad	=	18.5	1t	19	°/180	rad	=	19	19	°	13	°/120	Rad	=	19.5	"22.5	°	23	°/180	RAD	=	23	°	47	°	°/360	Rad	=	23.5	°	2	°/15	Rad	=	24	°	49	°/360
Rad	=	24.5	°	5	°/36	Rad	=	25	°	17	°/120	RAD	=	25.5	°/90	RAD	=	26	°	53	°/360	RAD	=	26.5	°/20	Rad	=	27	°	11	ï/72	RAD	=	27.5	°/45	RAD	=	28	°	19	°/120	Rad	=	28.5	°	29	°/180	rad	=	29	°	59	°/360	rad	=	29.5	°	ï/6	rad	=	30	°	61	°/360	RAD	=	30.5	°	31	°/180	Rad	=	31	°	7	°/40	rad	=	31.5	°	8	°/45	rad	=	32	°/72	rad	=	32.5	°	11	°/60	rad	=	rad	=	rad	=	rad	=
rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	rad	=	33	°	67	°/360	RAD	=	33.5	°	17
°/90	RAD	=	34	°	23	°/120	Rad	=	34.5	°/36	Rad	=	35	°	71	°/360	rad	=	rad	35.5	°	ï/5	rad	=	36	°	=	36	°	73	°/360	rad	=	36.5	°	37	°/180	Rad	=	37	°	5	°/24	Rad	=	37.5	°/90	Rad	=	38	°	77	°	°	°	°	°	°	°	°	°	°	°	°	°	°	°/360	Rad	=	39.5	°/9	Rad	=	40	°	9	°/40	Rad	=	40.5	°	41	°/180	Rad	=	41	°	83	°/360	Rad	=	41.5	°	7	°	/30	Rad	=	42	°	17	°/72	Rad	=	42.5	°	43	°/180
Rad	=	43	°	29	°/120	Rad	=	43.5	°/45	Rad	=	45	Rad	=	45	Rad	44	°	89	°/360	Rad	=	44.5	°/4	Rad	=	45	°	91	°/360	rad	=	45.5	′	23	'/90	Rad	=	46'	31	'/120	RAD	=	46.5'	47	'/180	RAD	=	47	′	19'/72	RAD	=	47.5	'	4'/15	RAD	=	48	′	97	′/360	RAD	=	48.5	'°	49	°/180	Rad	=	49	°/40	rad	=	49	Rad	=	49.5	°	5	°/18	rad	=	50	°	101	°/360	rad	=	50.5	°	17	°/60	rad	=	51	°
103	°/	360	Rad	=	51.5	°	°/45	Rad	=	52	°	°	°	°	°	°	°	°	°	°	/	24	rad	=	52.5	°	53	°	/180	rad	=	53	°	107	°	/	360	rad	=	53.5	°	°	/	10	rad	=	54	°	109	°	/	360	Rad	=	54.5	°	°	°	°	°	/	36	rad	=	55	°	37	°	/	120	Rad	=	55	.5	°	14	°/45	Rad	=	56	°	113	°/360	Rad	=	56.5	°	19	°/60	Rad	=	57'23	'/72	RAD	=	57.5'29'/90	RAD	=	58'13	'/	40	RAD	=	58.5'59'/180	RAD	=	59'119'/360
RAD	=	59.5	°	ï/3	rad	=	60	°	121	ï/360	rad	=	60.5	inches7Z	/	20	rin	=	63	°	127/36	°	rin	=	63.5	°	rin	=	64.5	°	rin	=	64.5	°	8	"	/	36	°	12"	/	36_	30	rin	=	67	°	Rin	136	°	365	°	/	0	°	rin	$	1	rin	in	in	rin	in	rin	in	rin	in	rin	in.	Rinse,	68.5	°	rinsing	=	68.5	to	136_	6	€	6/60	series	=	69	°	1399/360	rinse	=	70	°	for	71/02	71	°	Rinse	=	71	°	Rinsing	=	71	°	26/5	in	Rins
71.5	°	2	°	2	°	2	//	5	72	°	29/72/72,	734	°	Rin	=	73.5	°	rin	=	73.5	°	Rin	=	74	°	rin	=	75	°	rin	=	75	°	151Z	/360	rin	and	rins	=	76	°	to	7807/1	pres	=	77	°	°	32S	/72.77	°	in	rin	=	78	°	157	000	/360	beef	=	79	°	rins	=	79	°	rin	=	89	°	rin	=	8-80	°	rin	=	81	°	1;	up	to	19,000	rin	19,000	rin	=	85.5	°	rin	rin	rin	rin	rin	1;	=	85.5	°	446)	86	°	2936/36	°	beef	=	87	°	rin	=
88	°	89/180	series	=	88	°	rows	=	88	°	89	°	179.5	â	ervation	180	V	RK	180	V.	RK	Rinsing,	91.5	°	rinse	81	*	45	=	92	°	37/72	Series	=	93	°	975	°	rinse	=	93	°	for	274	/30	°	rinse	at	474	°	(94.5	°	=	95	°	8935	°	193	°	=	98	°	to	197.5	°	11/20	°	Rin	=	10	°	100	°	at	100	°	9	°	/9.9	Rin	=	100	°	at	10,	180	°	2020	°	2020	°	203ZZ.	5	rin	=	rin	=	rin	=	rin	=	108	°
2177/360	RIN	108.5	°	RIN	109.5	°	220	°	2210	°	220200	210	°	2100	°	2210	°	220	°	220	°	220	°	220	°	220	°	220	°	220	°	220	°	2210	°	220	°	220	°	45	°	RIN	=	113Z	/	360	=	113.1	°	227	°	27	°	in	°	27	°	27	°	227	°	22222	=	114	°	22996Z	/	360	Rin	=	114.5	°	Rin	=	113.235z	°	rin	=	115	°	rin	=	117	°	476	/	117.5	°	rin	=	119	°	=	219	°	R9.15in	=	291	°	R9,15in	29
219	°	=	129	°	2219	°	360	Rin	=	120.5	°	121/18/18/18/18/18/18/18	/18/18/18/18/18/18/18/18/18/18.	12.	40	Rin	at	rin	=	121.5	°	at	29/40	=	122	°	for	49/49,	1225	°	rin	=/123	°	rin	=/123	°	rin	///	360	lī	=	123.5	°	32Z/45	rin	at	rin	With	rin	at	rin	at	rin	at	rin	at	rin	at	rin	at	rin	=	125.5	°	755	°	2530/360	at	rin	=	126,	5	°/1108/6	=	rin	=	127	°	17.0	x	127	°	17.0
at	rin	=	127.5	°	32.45	°	32.45	°	32.45257	°	/	360	Rinda	=	128.5	°	43	°	/	60	Rinda	=	129	°	259	°	/	360	Rinda	=	129.5	°	13	°	/	18	Rinda	=	130	°	29	°	/	40	Rinda	=	130.5	°	131	°	/	180	Rinda	=	131	°	°	2603	°	Rinda	/	3	131.5	°	11	°	/	15	Rinda	=	132	°	53	°	/	72	Rinda	=	132.5	°	133	°	/	180	ROW	=	133	°	89	°	/	120	ROW	=	133.5	°	67	°	/	90	Rinda	=	134	°	269	°	/
360	Rinda	=	134.5	°	4	Rinda	=	135	°	271	°	/	360	Rinda	=	135.5	°	34	°	/	45	Rinda	=	136	°	91	°	/	120	Rinda	=	136.5	°	137	°	/	180	Rinda	=	137	°	55	°	/	72	Rinda	=	137.5	°	23	°	/	38	Rinda	=	137	°	277	°	/	360	Rinda	=	138.5	°	139	°	/	180	Rinda	=	139	°	31	°	/	40	Rinda	Rinda	=	139.5	°	7	°	/	9	Rinda	=	140	°	281	°	/	360	Rinda	=	140.5	°	47	°	/	60	lignes	=	141	°
283	°	/	3	141.5	°	71	°	/	90	Rinda	=	142	°	19	°	/	24	Rinda	=	142.5	°	143	°	/	180	Rinda	=	143	°	287	°	/	360	Rind	=	143.5	°	4	°	/	5	ZVANI	=	144	°	289	°	/	360	Rinda	=	142.5	°	36	Rinda	=	145	°	97	°	/	120	Rinda	=	145.5	°	73	°	/	90	Rinda	=	146	°	293	°	/	360	Rinda	=	146.5	°	49	°	/	60	Rinda	=	147	°	59	°	/	72	ROW	=	147.5	°	37	°	/	45	Rinda	=	1	48	33	°	/	40
Rinda	=	148.5	°	149	°	/	180	Rinda	=	149	°	299	°	/	360	Rinda	=	149,	5	°	5	°	/	6	Rinda	=	150	°	301	°	/	360	ROW	=	150.5	°	151	°	/	180	rind	=	151	°	1201	°	Rinda	/	151.5	°	38	°	/	45	Rinda	=	152	°	61	°	/	72	ROW	=	152.5	°	17	°	/	20	Rinda	=	153	°	307	°	/	360	Rinda	=	153.5	°	77	°	/	90	lignes	=	154	°	103	°	/	120	Rinda	=	154.5	°	31	°	/	36	Rinda	=	155	°	311	°	/
360	Rinda	=	155.5	°	13	°	/	15	Rinda	=	156	°	313	°	/	360	Rinda	=	155	.	7	°	/	180	ZVANI	=	157	°	7	°	/	8	Stimulation	=	157.5	°	79	°	/	90	Rinda	=	158	°	317	°	/	360	Rinda	=	158.5	°	53	°	/	60	Rinda	=	159	°	319	°	/	360	Rinda	=	159.5	°	8	°	/	9	Lignes	=	160	°	°	107	°	/	120	Rinda	=	160.5	°	161	°	/	180	Rinda	=	161	°	323	°	/	360	Rinda	=	161.5	°	9	°	/	10	ROW	=
162	°	65	°	/	72	ROW	=	162,	5	°	163	°	/	180	Rinda	=	163	°	109	°	109	°	=	163.5	°	41	°	/	45	Rinda	=	164	°	329	°	/	360	Rinda	=	164.5	°	11	°	/	12	Rind	=	165	°	331	°	/	360	Rinda	=	165.5	°	83	°	/	90	Rinda	=	166	°	37	°	/	40	Rinda	=	161.6	°	/	180	Rinda	=	167	°	67	°	/	72	Rinda	=	167.5	°	14	°	/	15	Rind	A	=	168	°	337	°	/	360	Rinda	=	168.5	°	169	°	/	180	Rinda	=
169	°	113	°	/	120	lignes	=	169.5	°	17	°	/	170	°	341	°	/	360	Rinda	=	170.5	°	19	°	19	°	/	20	Rinda	=	171	°	°	343	°	/	360	Rinds	=	171.5	°	43	°	/	45	Rind	=	172	°	23	°	/	24Dad	=	172.5	°	173	°	/	180Rad	=	173	°	3607	°	=	173.5	°	29	°	29	°	/	30Rad	=	174	°	349	°	/	360Rad	=	174.5	°	35	°	/	36Rad,	5	°	/	60	ZVANI	=	177	°	71	°	/	72	ROW	=	177,	5	°	89	°	/	90	Rind	=
178	°	119	°	/	120	Rinda	=	178.5	°	°	179	°	/	180	lignes	=	179	°	359	°	/	360	Rinda	=	179.5	°	Rinda	Pâte	°	/	1	Rang	=	180	°	361	°	/	360	Rinda	=	180.5	°	181	°	/	180	Rinda	=	181	°	121	°	/	120	Rinda	=	181.5	°	90	Rinda	=	Rinda	=	182	°	73	°	/	72	Rinda	=	182.5	°	61	°	/	60	Rinda	=	183	°	367	°	/	360	Rinda	=	183.5	°	46	°	/	45	Rinda	=	184	°	41	°	/	40	Rinda	=
184.5	°	37	°	/	36	Rinda	=	1	85	°	371	°	/	360Rad	=	185.5	°	31	°	/	30Rad	=	186	°	373	°	/	360Rad	=	186,	5	°	187	°	/	180AD	=	187	°	25	°	/	24Rad	Rinda	=	188	°	/	3607	°	188.5	°	21	°	/	20	lignes	=	189	°	379	°	/	360	Rinda	=	189.5	°	19	°	/	18	Rind	A	=	190	°	127	°	/	120	Rinda	=	190.5	°	191	°	/	180383°/360	rad=191.5°	16°/15	rad=192°	77°/72	rad=192.5°
193°/180	rad=193°	43°/40	rad=	193.5°/40	rad=	193.5°/40	works	=	works	=	192°	97°/84.5°	13°/12	rad	=	195°	391°/360	works	=	195.5°	49°/45	works	=	196°	131°/120	works	=	196.5°	197°/180	works	=	197°/	180	works	=	17.7	19719.	10	rad	=	198°	397°/360	works	=	198.5°	199°/180	rad	=	199°	133°/120	works	=	199	.5°	10°/9	works	=	200°
401°/360	works	=	200°	401°/3060	works.	403°/360	work	=	201.5°	101°/90	rad	=	202°	9°/8	work	=	202.5°	203°/180	rad	=	203°	407°/360	work	=	203.5°/360	Work	=	203.5°	=	17°	2	2/09°	17°	0	204.5°	41°/36	Work	=	205°	137°/120	rad	=	205.5°	103°/90	rad	=	206°	413°/	360	work	=	206.5°	23°/20	work	=	206.5°	23°	23°	23°	23°	23°	23°	23°	23°/20
work	=	2	work	=	237/207/207.	45	work	=	208°	139°	/	120	work	=	208.5°	209°	/	180	rad	=	209°	419°	/	360	work	=	209.5°	7°	/	6	rad	=	210°	421°	/	360	work	=	210°	421	°/360	work	work.	47°/40	work	=	211.5°	53°/45	rad	=	212°	85°/72	work	=	212.5°	71°/60	rad	=	213°	427°/360	work	=	213.5°	107	work	=	1	Work/21/40	214.5°	43°/36
rad=215°431°/360	work=215.5°6°/5	rad=216°433°/360	work=216.5°217°/180	rad	=	217°	29°/24	work	=	217.5°	109°/90	rad	=	218°	437°/360	work	=	218.5°	73°	73°	39	work	=	5°	19	rad	=	5°	21/60	work.	°	11	°	/	9	rad	=	220	°	49	°	/	40	rad	=	220.5	°	221	°	/	180	rad	=	221	°	443	°	/	360	rad	=	221.5	°	37	°	/	30	rad	=	222	°	89	°	/	89	°	/22.2	rad	=	rad	=
221	working	=	221	=	223°	149°	/	120	rad	=	223.5°	56°	/	45	rad	=	224°	449°	/	360	rad	=	224.5°	5°	/	4	rad	=	225	°	451	°	/	360	work	=	225.01	work	=	225.5	°	°	°	°	1/25	°	1/2	120	work	=	226.5	°	227	°	/	180	rad	=	227	°	91	°	/	72	rad	=	227.5	°	19	°	/	15	work	=	228	°	457	°	/	360	work	=	228.5	°	229	°	229	°	229	°	°	°	°	°	°	C	=	227	°	229	°	=	5	rad2/180	work.
°	23	°	/	18	working	=	230	°	461	°	/	360	rad	=	230.5	°	77	°	/	60	rad	=	231	°	463	°	/	360	rad	=	231.5	°	58	°	/	45	working	=	232	°	2	360	rad	=	232	°	31	°	2	°	2	/28	31	°	3/2.	=	233°	467°	/	360	rad	=	233.5°	13°	/	10	rad	=	234°	469°	/	360	rad	=	234.5°	47°	/	36	rad	=	235°	157°	/	120	rad	=	235.9	=	4	°	5.9	=	235.5	360	working	=	236.5	°	79	°	/	60	rad	=	237	°
95	°	/	72	working	=	237.5	°	119	°	/	90	rad	=	238	°	53	°	/	40	rad	=	238.5	°	239	°	/	180	rad2	=	239	°	239	°	/	180	rad2	=	237.333333333333.333.	95°4°/3rad=240°481°/360rad=240.5°241°/180rad=241°161°/120	work=241.5°121°/90rad=242°97°/	72	rad	=	rad	=	rad	=	rad	=	242.5°	27°	/	20	rad	=	243°	487°	/	360	rad	=	243.5°	61°	/	45°	Working	=	216.3
rad2,	5°	49°	/	36	rad	=	245°	491°/360	rad	=	245.5°	41/30	rad	=	246°	493°/360	rad	=	246.5°	247°/180	rad	=	247°	work	=	247°	work	=	247/2	work	=	11	°	7/2	rad	=	11	°	7	=	248	°	497	°	/	360	work	=	work	=	work	=	work	=	work	=	work	=	work	=	248.5	°	83	°	/	60	rad	=	249	°	499	°	/	360	work	=	249,	5°	25°/18	works	=	250°	167°/120	works	=	250.5/5°
250.5	=	250.5	360	works	=	251.5°	7°/5	work	work.	=	5	work	=	5	252°	101°/72	work	=	252.5°	253°/180	work	=	253°	169°/120	work	=	253.5°Rinda	=	254	°	509	°/360	Rinda	=	254.5	°	17	°/12	Rinda	=	255	°	511	°/360	Rinda	=	255.5	°	64	°/45	Rinda	=	256	°	57	°/40	Rinda	=	256.5	°	2107	Rinda/2107	°	=	257.5	°	43	°/30	Rinda	=	258	°	517	°/360	Rinda	=
258.5	°	259	°/180	Rinda	=	259	°	173	°/120	Rinda	=	259.5	°	13	°	13	°	13	°	13	°	13	°	13	°	13	°	13	°	1	°	3	1	°	13	°	13	°	13	°	HEL	13	°	13	°./9	Rinda	=	2601	°	6	Rinda	=	2603/6	°	29	°	523	°/360	Rinda	=	261.5	°	131	°/90	Rinda	=	262	°	35	°/24	Rindas	=	262.5	°	263	°/180	Rindas	=	263	°	527/215360	Rindas	=	227/215360	Rindas	=	264	°	°/360	Rindas	=	264.5
-	6	°	53/2	°	6	Miss	59	°/40	Rinda	=	265.5	°	133	°/90	Rinda	=	266	°	533	°/360	Rinda	=	266	5160	Rinda	=	266	5160	Rinda	=	266	,	5107	°	89/72	Rinda	=	267.5	°/72	Rinda	=	267.5	°	467	°	68	1	°/120	Rinda	=	268.5	°	269	°/180	Rinda	=	269	°	539	°/360	Rinda	=	269	.5	°	Rinda	36/2	Rinda	=	340	°	=	270.5	°	271	°/180	Rinda	=	271	°/120	Rinda	271.5	°	68	°/45
Rinda	=	272	°	109	°/72	Rinda	=	272,	5	°	91	°/60	Rinda	=	273	°	36047	Rinda	=	273	°	5147	Rinda/90	Rinda	=	274	°	61	°/40	Rinda	=	5	°	57	Rinda.	°/36	Rinda	=	275	°	5	51	°/360	Rinda	=	275.5	°	23	°/15	Rinda	=	276	°	553	°/360	Rinda	=	2727770	Rinda	=	2727770	°	37	°/24	Rinda	=	277,	5	°	139	°/24	90	Rinda	=	57	°	3	Rindas	=	278.5	°	31	°/20	Rinda	=
279	°	559	°/360	Rinda	=	279.5	°	14	°/9	Rinda	=	280	°	187	°/120	Rinda	=	280.5	°	281	°	/180	Rinda	=	281	°	559	°/8	28	Rinda	°	113	°/72	Rinda	=	282.5	°	283	°/180	Rinda	=	283	°	63	°/40	Rinda	=	283.5	°	71	°/45	Rinda	=	284	°	569	°/360	Rinda	=	284.5	01	°	284.5	21.5	°	=	°	18.5	21.5.	143	°/90	Rinda	=	286	°	191	°/120	Rinda	=	286.5	°	287	°/180	Rinda	=
287	°	115	°/72	Rinda	=	287.5	°	8	°/5	Rinda	=	288	°	3	°	57	289	°	=	1809	Rindas	°	193	°/120	Rinda	=	289.5	°	29	°/18	Rinda	=	290	°	581	°/360	Rinda	=	290.5	°	97	°/60	Rinda	=	291	°	583	°/945.5	Rinda	=	2	°	292	°	Rinda	13	°/8	5	=	2	°/8.	°	293	°/180	rinda	=	293	°	587	°	587	°/360	Rinda	=	293.5	°	49	°/30	Rinda	=	294	°	589	°/360	Rinda	=	294.5/36	Rinda	=
294.5/36	25	°	59	°	5	=	294.5	/36	25	°	59	°	5	=	9	°	5.	°	74	°/45	Rinda	=	296	°	593	°/360	Rinda	=	296.5	°	33	°/20	Rinda	=	297	°	119	°/72	Rinda	=	297.5	°	149	°/90	Rinda	=	298	°.	10.80	Rinda	=	298	°	10	1999	°/180	Rinda	=	299	°	599	°/360	Rinda	=	299.5	°	5	°/3	Rinda	=	300	°	601	°/360	Rinda	=	300.5	°	301	°/180	Rinda	4	=	7	°	40.	°	301	302	°	121	°	/	72
Rinda	=	302.5	°	101	°	/	60	Rinda	=	303	°	607	°	/	360	Rinda	=	303.5	°	76	°	/	45	Rinda	=	304	°	203	°	/	120	Rinda	=	304	°	203	°	/	120	Rinda	\	U0003.	.	=	305	°	611	°	HEL/360	Rinda	=	305.5	°	17	°/10	Rinda	=	306	°	613	°/615	Rinda	°	30	=	307	°	41	°/24	Rinda	=	307.5	°	77	°/45	Rinda	=	308	°	617	°	/.	360	Rindas	=	308.5	°	103	°/60	Rindas	=	309	°	619	°/360
Rindas	=	309.5	°	90	Rindas	=	309.5	°	90	Rindas	=	31	°	40	Rindas	=	310.5	°	311	°/180	°	Rindas	=	6	=	6	=	231	Rinda	311.5	°	26	°/15	Rinda	=	312	°	125	°/72	Rinda	=	312.5	°	313	°/180	Rinda	=	31103	°	3/2903	°	157	°/90	Rinda	=	314	°	629	°	/	360	°	Rinda	=	4	°	7	/314	Rinda.	Rinda	=	315	°	631	°	360	Rinda	=	315.5	°	79./45211V	/	120	rad	=	316.5	°	317V
/	180	rad	=	317	°	127V	/	72	rad	=	317.5	°	533ï	/	40	rad	5	°	=	319.Rad	16ve	/	9	rad	=	320	°	641V	/	360	rad	=	320.5	°	107V	/	60	rad	=	321	°	643V	/	360	rad	=	321.5	°	161V	/	90	rad	=	322	°	43ï	24	rad	=	322.5	°	3233ï	/	180	rad	=	372V	/	360	rad	=	323.5	°	9.9	°	163V	/	90	rad	=	326	°	653V	/	360	rad	=	326.5.	°	109V	/	60	rad	=	327	°	131V	/	72	rad	=	327.5	°
82V	/	45	rad	=	328	°	73V	/	40	rad	=	328.5	°	329V	/	180	rad	=	329	°	659V	/	360	rad	=	329.5	°	11	amo	meisten	=	334	°	223	.	/	120RAD	=	334	=	334.5	°	67V.	/	36	rad	=	335	°	671/360	rad	=	335.5	°	28	/15	rad	=	336	°	673V	/	360	rad	=	336.5	°	337V	/	180	rad	=	337	°	15V	/	8	rad	=	337.5	°	169V	/	90	rad	=	338	°	677V	/	360	Rad	=	338.5	°	113V	/	60	rad	=
339	°	679V	/	360	rad	Rad	=	342.5	°	343V	/	180	rad	=	343	°	229.	/	120	rad	=	343.5	°	86V	/	45	rad	=	344	°	689V	/	360	rad	173V	/	90	rad	=	346	°	77.	/	40	rad	=	346.5	347V	/	180	rad	=	347	°	139V	/	72	rad	=	347.5	°	29	CI	/	15	rad	=	348	°	697V	/	360	rad	=	348.5	°	349V	/	180	rad	=	349	°	233V	/120	rad	=	349.5	°	35	/180	18	Rad	=	350	°	701V	/360	rad	=
rad	=	350.5	°	39V	/20	rad	=	351	°	703ï	/360	rad	=	351.5	°	888/45	rad	=	352	°	47V	/	24	rad	=	352.5	°	353	ci	/	180	rad	=	353	°	707	v	/	360	rad	=	353.5	°	59	v	/	30	rad	=	354	°	709	v	/	360	rad	=	354.5	°	71	v	/	36	rad	=	355	°	79	v	/	40	Rad	=	355.5	°	89.	356	°	713	V	/	360	rad	=	356.5	°	119V	/	60	rad	=	357	°	143V	/	72	rad	/	120	rad	=	358.5	°	359.	180	rad	=
359	°	2	rad	=	360	°	rad	=	360	°




